Woon T8
P ()0
b= ;‘m; fr§(2y+ 4
$() (35D } &)
¥ 3 i&,) K;:?t - wm):&‘eP\S;njm

i
Cz yd) = additie o

(3]

S

Go #3: Skebch ; & @

Deswe 1y kp o w080 o0

DNV = x5 9000 +c,8'un9
%

S e S8 39685

U 4

St \39¢ \} A0




" o

g= 190 (L4137 = 47056 5" . @

M= 127 3550

=

¢
ple 580 ¥502% NS

B
[0 20 L)

o, ! )

o QY - 3 55‘6

_ &

& diveetiog & Ae - 23,{@“0.5“

|
- 0 l
Dwect®) of pps 8+ P = 296 6‘4\"_0"5‘&:8 -2‘?6025

I

Qe 5° OBSQYM\&;; (Y\’Pm A—to ; l
D= knestte - loos V659 () = Wi, @

No KRS8 oo 165 x Sin(2seton) - g.q03m

2 2
RV & P= TT%S0 +1:4% & 63— 2655 < 8 l-oigy
thtoriations from 8 dop: &

D= Kptet’e = lcox2:030% 0ot (-5"3¢") - 9on.dom

Nz KA S8 — leox 030 & Smi(—%%)

~\2eT2)
| 7 > "
Qu OS{ Pz AT8BS + ko - \2:72) =\1500 = Sk ollw.
{
D= 8L.0I8+ 8k.oly 8L 016w Gw

2
D= LBheTid 201000 = 366 d1om (G

Roker gkeros ss@ 2lewents 1 qm)
NAT Skevehes 15 () Concegk 17 E)

L @y of scheme )





{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}

